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Labor Economics is simply the labor market explained via microeconomic concepts.  The foundation of labor economics then is based on a few important microeconomic relationships. The following is a simple review of a the more important of these concepts. 
Some marginalities:
Law of diminishing marginal productivity: as the number of inputs increases, the marginal product declines (this is consistent with the law of diminishing marginal utility and diminishing marginal returns).  Unstated, but important to this relation is that all other inputs are constant. 
Marginal Product of Labor:  – where Q is the quantity of the good being produced and L is the number of labor  units
Marginal Revenue Product of Labor:   – where P is the price of the good being produced – the price for which it is sold to consumers
Real wages:  - this is the result of 1)  (profit maximizing condition in competitive market) and 2) dividing each side of  by P: .  Recall that the real wage is simply the nominal wage adjusted for inflation.
Total Cost of labor:   - where W is the wage and L is the number of labor units
Marginal Expense of Labor:  

Some Profit maximizing conditions
 (general labor market conditions)
 (competitive labor market conditions)
 (competitive labor market conditions)
 : this is one of the most basic microeconomic conditions for profit maximization: marginal revenue =  marginal cost.  This condition applies to all markets, competitive or not.  With respect to labor, we think about labor’s contribution to marginal revenue () and marginal cost ( in the relation .  This is a more defined version of MR = MC and simply lets us know about labor’s contribution to marginal profits.

  (balance condition) – where K = capital and  = price of input (i), which in this case is either L or K.  If this presents as an inequality, such as   it would suggest the producer (firm) isn’t using the optimal balance of L and K to achieve the maximum level of profits.  It’s helpful to think about how a firm might correct this.  In this case, we see want to either decrease the value of   or increase the value of  .   We have to think of this in short and long run situations recalling that the competitive market firm has no control over the prices of its inputs (L and K) and changing  requires changing the quantity of capital used in production, which isn’t easily accomplished in the short run.   Which leaves us with only one term in the equivilency that we might be able to change in the short run: .  Recall that as the number of labor units increases, holding all else constant, the marginal product of labor () declines.  So… in order to correct the inequality , we need to increase the number of labor units.  This causes  to fall and decreases the value of the entire term .  Try to keep in mind that there’s a negative correlation between L and ; as L rises,  falls (the law of diminishing marginal productivity).

[bookmark: _GoBack]Finally, as input costs rise producers manufacture fewer units of the output good.  This supposes that producers will choose to maintain a constant profit margin, so as the cost of production increases, the output price would also have to increase, which will cause the quantity demanded of the good to fall (think ab out downward sloped consumer demand curves). 
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